No.lof _Printed Pages : 23 7 O O 2 2 5 6280

TR b

Lsteflufwes / STATISTICS
(WD bHpyd phide eufl / Tamil & English Versions)

Cprid : 3 waenfl ] [ Qorgs wHlbuamser : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150
_omlegemr ¢ (1) Sieovarsg dlamrssErd sflurs uSeurd o darsT GraTLIGeman

sAuriggs Qsrerareyd.  @sauudleld @Gopullmuber
siopssarsrafiiurariiib o angurss Qsfelssaln.

@ fob oeog spUY ewloma wLIECWL aWSHMSHGD,
g ECHMg (HeusH@GL LWeh$s Ceuamm(Hb. LILBSET 6ImTeSHE
Quendled LWETLI(HSS@LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately. '

(2) Use Black or Blue ink to write and underline and pencil to draw diagrams.

U@ - 1/ PART -1
@Ol : ()  ereveon cllamTEsEnEEGL edlenL welEse, .

() eaGeurm L &@D 6H WHLIGLIGmT.

Note : (i) Answer all the questions.
(i) Each question carries one mark. ]
@Oy : sflwren clenLerwis (ngr;’r;@g,(aggj T(DSIS. 50x1=50
Note : Choose the correct answer. '
1. A, B@raw@w sriupp Hlapslser erafler P(ANB)=
P(ANB |
(S)P@)PE) - (B)POPE/A) (@) TTod (7) PAHEE)
If A and B are independent events then P(ANB) =
' : P(ANB
@ PWPE B PWREA) (O TLEP @ Pe+RE

[ Slplis / Turn over
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2. P(X)=0.15 P(Y)=025 P(XNY)=0.10 erefe P(XUY) e L] :

(=1) 0.10 (<) 0.20 (@) 0.30 (FF) 0.40
If P(X)=0.15 P(Y)=0.25 P(XY)=0.10 then P(XUY) is :

(@) 0.10 (b) 0.20 (€ 0.30 (d) 0.40

3. Hspsse] ererug)

(=) @G 50 () @ e56isD

(@) &4l &wib () Cpsapu Smarssb
Probability is expressed as : '

(a) ratio | ' (b) percentage

(c) proportion (d) all the above

4. DB @@_lé;&;l;lvl_n'_l_ @R L& sl qdlBhg @ vCul praw QUDeuSHETET
bepssal |
1 1 | o4
(=) 33 () 5 (&) 33 () 1
Probability of drawing a spade queen from a well shuffled pack of cards is :

4
@ = ® © i @ 1

5. &ply flspssey (Classical probability) eremLig) : .
(=) yerefuiwer Hlapssay () @@ phosu Blspsse)
(@) AT AT HlEpsse] (rF) Gpamplu ergieybd @eene
Classical probability is also known as : |
(a) Statistical probability (b) A priori probability
(c)  Empirical probability (d) None of the above



BL&S Quans Hapduier Hapsse, :
(s1) 0 ()1 (@) -1

The probability of an impossible event is :

(@ 0 (b) 1 © -1

epeny LsaLs6r eisb CUTE mbsd 17 HoLbs Hapsse :

(@) 5o (@) oo (@) 51

When three dices are thrown the probability of sum being 17 is :

3 2 1
@ 5 ® © 7%

6280

QasrR&sILLL Foeumili o L eimeamuid a Ger wHL

X=x[0[1]2
pi |a|24)a

(@) 1 (@) 3 (@)

* From the given random variable table, the Vahie ofais:

X=x|{0|1]2
Pi a 2a ﬂ

@ 1 ® 3 @ 4

FeumlL] LIl x 67 WIHIUTLL 6T :

(<) BE6A)~[ECP (=) [EQOP-E®)  (8) EK?)

Variance of the random variable x is :

(@ EGA-[EXP () [EEP-E) (© B

()

=

| =

(d)

(7) [EGOP

@ [EEP
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10. Var(5x+2) eremuig) :

(<1) 25 var x ()5 varx (@) 2varx (FF) 25
Var(5x +2) is :

(a) 25 varx (b) 5 varx " {c) 2varx (d 25

11. E(2x+3) eremilg) :

(1) E(2x) (<) 2B()+3 (8) E@) (/) 2x+3
E(2x+3) is :

() E(2%) (b) 2E(x)+3 (©) E@) d) 2x+3

12.  f(x) eranug Papsse] SiLTESE smiy x erafled E(x?) ereuLigy) :

(@) | fdx (o) | 2f0d (@) [Pfewax (g [ f6*)dx

— — o - ®

If f(x) is the p.d.f. of the continuous random variable x, then E(x?) is :

Q- o0 -] ’ oo
@ | f@a b Jrf@d (g [Pf@de @ f(x?)dx

13. f(x) @@ QsmLir soemitiL) wrhluded Smwps Hspsse, SILigHéE ey F(X)
eraLg igan @Gofle) LTeued smiLy erafled F(X) =

(<) @ (@)f0 @ /@& m Fo

If F(X) is a cumulative distribution function of a continuous random variable X with
p.df. f(x) then F(X)=

@ f&) ® © Jr@d @ R



14.

15.

16.

17.

5 6280

X ety Fweumiiiy wrdler seflg eriurisse ____ 6T GT ) LD
S PSSLILI(HID.
(=) &pref (<) HL fevdse
(@) wryuT@ () pE® ]
Mathematical expectation of random variable X is also known as
"~ (a) mean (b) standard deviation

(c) variance (d) mode

9
(% + %) aaLg mmOILY Uremad GHEGD Curg Gsdar Sl lwssd

2, GLD.
(=) V2 (=)2 (&) V3 (FF) 3

9
2 ‘
If (— + —j refers to the binomial distribution then its standard deviation is

@ VI b) 2 © 3 @ 3

MHDILILLY UFeIeier ommiur_rerg| :

(<) npq ()np (@) Jopg () O
The variance of the binomial distribution is :
(@ mnpq (b) mnp () npq ‘ (d 0

FEoULL LFeleder spmefl 8 wHmid wrmur@h 4 erafley P(X=1) a1 wdi] :
1 1

(o) 5 (@) 57 @) 5 (") o

The mean and variance of a binomial distribution are 8 and 4 respectively. Then P(X=1)
is equal to :

i ‘ 1
@ = 0 © 7 @ 57
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- 18,

6
UTUETET LFeuedled :

(=) spref > wrmUrE (<=1) &b‘ﬁ&ﬂ = ormium
(@) spmefl < wrmur® (FF) agmafl # wrmum@
For a Poisson distribution : '

(a) mean > variance (b) mean = variance -
() mean <variance =~ (d) mean # variance

19.

20.

21.

22.

UmLETen LFeugll 6T GSmLieniemael

(1) flu Hlapslaer (<=1) GO Blsp&ser
(@) poLQup s Hespdadr (F) BHesunrer Hapdser
Poisson distribution corresponds to :

(a) rare events (b) certain event \

(c) impossible event (d) sure events

P(— <z < 0) @er LpliLena :

(o1 ()01 (&) 0.5 () 0O
The area P(— <z < 0) is equal to : ‘
(a) ‘ 1 (b) 0.1 (c) 05 (d o

@Quie Bleneols ureuadler Frmefl = 60 erafled g6 WP&ED AT

(=) 60 (<) 40 (@) 50 () 30
The mean of a normal distribution is 60 its mode will be :
(@) 60 (b) 40 (c) 50 (d) 30

L @uie BHleneoll LiFeuadled

/
(@) p=10=0  ()p=00=1 (@) p=00=0  (m) p=1,0=1

The steindard normal distribution has :

(@ wp=1,0=0 (b) w=0,0=1 () wn=0,0=0 (d p=1 0=1



23.

24.

25.

26.

7 - 6280

S -2 L . - .
-~ " (x)" eréimp eumiLImigéir epeoid samL_Hlweb
(1) wrgur® () L cllassed
(@) srmef () s
2
The formula 2£ - (§)2 is used to find
(a) variance (b) standard deviation
() mean (d) mode

seLdwuiinl L wrdHiufer eldsbd P er S Genp :

(o) [FE=D (o) @ (g DS m X

The standard error of observed sample proportion P is :
- [P@A- P 1-— P
@ 0= g P © [J&=PQ 4 P
n n n , n

Apliy srem UL D o @ Qmupener Cergamanier Siey s L] :

(1) Zo)n (=) Z, (&) Zy (F) Zo/

The critical value of test statistic at level of significance o for a two tailed test is denoted
by :

(@) Zo )z ©  Zog & Zys

@ eranib erHCamer Hy g upMls seupmen (plg.e| eT(HSS eTrarLig

(1) s @m)é;l_cﬂemgg (<) @ranTtLmbd auansGanLp
(@) eperprbd euensGlenLy (FF) Brevsmd euemsSleny
A wrong decision about H, leads to :

(a) One kind of error (b) Two kinds of error

(c) Three kinds of error (d) Four kinds of error

[ Hlis / Turn over
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27. Hy:p=100 &@ wrors H; : w # 100 erenn Cergenen
(=) @ pevar - auapenar Cergene
(=) @@ pevar - QL wpevar Cargenan
(8) Q. peovan Camgenen
() agib @Qedoame
Testing Hy, : =100 vs. Hj : p # 100 lead to :
(a) - One sided right tailed test
(b)  One sided left tailed test

() Two tailed test
(d) None of the above

28. &L (b syreflller wrmur_reg)

2 o) g g -
(=) = (@) 75 (8) = () %
The variance of sample mean is :

2 o o o
@ = ® © -z @

29. Qe srreMsEnsden Gurar edsHuresdpsrar Lerafudwe Gergene

X —n p—-P
(=) %/H (=) [PQ/n
X1 — x2 P1— P2
2 2
(@) oo , o2 G faé[iJ,L)
nq 1y ng ny
The statistics for difference between two means is :
X—p p-P
(a) 7 e (b) [PQ/n
§1 — E2 P1 = P>




30.

31.

32.

9 6280

Nflg o aﬁ]g;‘é]u_lrr&g)'@c,]g)a;rrem p1—po) SLL Wenpwirenigl er(HGaTeT H0 P1=P>»
erar 2 arerGurg) :

an(1 1 A1 1

(=) \JP‘{E '+EJ (=) P (nTJrEZ)
__ ! |

@ 4o "o () LI+ P2

Standard error of the difference of proportions (p;—Pp,) in two classes under the
hypothesis H;, : p; =p, with usual notation is :

A 1 P19 +P2 q,
nq ‘ 1'12 (d) Ill oy

Zy < Z, erafled Qe ergid erhGameTmeng) : -

(21) gpsuLBb (<) LHSSILGHLD

() sowvwurs (FF) ggIb &ap Guarg)
If Z, < Z, then the null hypothesis is :

(a) .accepted (b) rejected

(c) cannot be formed ‘ (d) nothing can be said

av@Larl t-Lireualian (penGenry. :

(=) smied 1wirene (<=4,) orLieomev

(@) RA. Qagfr (F) eflevedlwd S. smevL_
 Student’s t-distribution was pioheered by :

(a) Karl Pearson , (b) Laplace ~

() RA. Fisher (d) William S. Gosset

[ Spiys / Turn over
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33.

34.

35.

36.

37.

10
Qm fm smmsefler a=l;rrscﬂa;@é5£lem_8u_l 2 arer GaumuriigHarer pLiyy
Cergemaner Gurgl euerwubp LTmsseiar aramaisms :

(31) ny+n, (=) ny+n,~1 (&) ny+n,-2 (FF) ny+ny+2.

While testing significance of the difference between two sample means in case of small
samples the degrees of freedom is :

a)  n,+n n;+n,—1 ¢) n;+n,—2 . d) n;+n,+2
1 2 1 2 1 2 1 2

v=2 erafled x%) o5 & LOFILILY

(=1) 5.9 (<) 5.99 (@) 5.55 - (¥) 5.95

For v=2, x%; o5 equals :
@ 5.9 ) 5.99 © 555 (4 5.95

@scés Cergamanie (4x3) Coirayls L igwealer auamruny LTms :

(1) 12 (=) 9 (@) 8 (r) 6.
Degrees of freedom for chi-square in case of contingency table of order (4 X 3) are :
(a) 12 () 9 (c) 8 (d 6

F gemeneuuied aupssons Quilu wrmpurQ & @QHEGLD.

(1) AsrEduicr () ueHude

(@) @) remTig @ILD () @emeu ergiayflcvency
Customarily the larger variance in the variance ratio for F statistic is taken :
(@) in the numerator (b) in the denominator |

(c) either way ‘ (d) none of the above

- t-Cemgamander wparws QsTESHar S L elwsae

(=) Qaflurg () Qsflyd . (@)1 () 0
The assumption in t-distribution is that the population standard deviation is

(a) mnot known (b) known (© 1 (d o



38.

39.

40.

41.

11 6280

2
F= 21_2 eram Gergenan Lemaflufiwed <yereney &g Garsenar Gl
2
vweTUHEDG
(<=1) Hy: py=ps () Hy:02=02 (@) Hy:0y=0 (rF) Hy: o?=04?
g, 2
The test statistic F = gl_z is used for testing :
~
(@ Hy:pi=p, (b) Hy:02=0,>2 () Hy:oy=c (d) Hy:o?=04?
wrour(® uGlumiewen CFTLBISILL L. SLOTag

(<=1) efleusmwid (<) Czmfle - (®) 2liflweé (7F) rwe
Analysis of variance technique originated in the field of :

(a) Agriculture (b) Industry (c) Biology (d) ' Genetics

Crgurl® uguurielpeiu Sewramkseaie @amrear er@&ésluL
Sam&eT Gupliul L wpupens Qsm@Hwrerg :

(1) @@L () umiemen (@) 66)85>-6)J|‘:I'5585Lb () @uieoblenaw

One of the assumption of analysis of variance is that the population from which the
samples are drawn is a :

(a) Binomial (b) Poisson (© x? (d) Normal

N sarL_bg wHlLser wphmd ‘t’ png@mma@m QamrearL gmeudlL
UTGUTL g6 Yenp&aTear euenrUDD LITEESETTGTene
(o) N-1 () t-1 (@) N-t () Nt

In case of one way classification with N observations and ‘t’ treatments the error degrees
of freedom is :

(@) N-1 b t-1 (© N-—t (@ Nt

[ Slpliys / Turn over
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42, EpsaT_eupmIeT 6TH LI(HeuSTe LImUTHEET o aiTL_Iisé STTGRTLDTE0TE) ?
(1) sLluGeuliniflenco () EWPSTW LILPSSEISET
(@) ueigmasar () G)emeu TSI
Salient features responsible for seasonal variations are :

(a) Weather : (b)  Social Customers--
(c) Festivals : (d) All the above

43.  Gummerrgmy ghp Qnés Carur® QaranBerer 9Nelear cumswTag) :

(1) uELUmbay (epsdr (<) Gpel panp

(@) <erail® pevmsar () ergiayflerenew
The economic rhythm theory comes under the category of :

(@) Analytical methods (b) Naive method

(c) Barometric methods (d) None of the above

44. srefGsrii ecflesta ‘Bar_ sre wrpur@’ aauder QsrifyamLw

Gfeurang) : '
(1) G wrourdH ' (=) L@meu &Te rEHUTEH

(&) euhspp wrYUTE (™) Gupemflu Sievarggid

The component of time-series attached to long term variation is termed as :

(@) Secular Trend (b) Seasonal Variation

(c) ' Irregular Variation (d) All the above

45. A, Beranmm LGRTLSET eten @enm sTrrsamel erafled wieler Qs

(1) 0 (=) +1 (&) -1 G

If A and B are independent, Yule’s coefficient is equal to

@ o ® +1 © -1 @ =



46.

47.

48.

13 _ 6280

N=500 (A)=300 (B)=250 opmitd (AB)=40 erenp clleuymisar
(=) QUITHSSWPELEMD 2 EDLUIGT 6@

(<) OUTBSESPOL®D 2L IIMme

(@) il s Qamitenu 2 eniwiame

(rF) gmiTUDD SeTento Q&maim_ama l

If N=500 (A)=300 (B)=250 and (AB)=40 then data are

(a) Inconsistent

(b) Consistent

(c) Negatively associated
(d) Independent

@ Larysemens smEIb Curg Wfley Sieablalamsailer cTanalsms  C

(<=1) Greim( () prene (&) o6 (™) gemg.
With the two attributes the total number of class frequencies is :
(a) Two (b) Four (c) Eight (d) Nine

Réswwpp Heoauliad &pés e Grgr)g, SlaTan U W Qsrewr® STomerd
GunQsrerer LweTLIHSSuddeme :

<) Béfmeler BLGL epebd eflen sapiFe

(
(<) BUQUmeden BLGL® aped el smmsd
(@) BuQuapeler B&flm epeoid oflenL_ FM S

(/F) erdlrumr&sUL @D eflenL_epwi BUQUEBHLLD &SSO

Which of the following criteria does not apply decision making under uncertainty ?
(a) Maximin return |

(b) Maximax return

(¢) Minimax return

(d) Maximize expected return

[ Hmuys / Turn over
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49. Geneumd s weopule Spps Siorerd sraw @l <3/ L_L_61 6 6tT
LweruBEmg ?

(1) Befipelen BLALmpeD (<) BUQUEBeler 5&0m wenp
() BuQumeiler BLGQLGpomD  (F) EMV - wpenm

In which of the following methods we use loss-tables ?

(@) Minimax return . (b) Maximin mefhod
() Maximax return - (d) EMV - method

50. &ioner wrSHG UTULILESmETS Ghlés ﬁ LwerHEDg).
(=1) sgiro () o (@) @bysedl (W) EMV

Chance node in a decision tree diagram represented as

(a) square (b) circle (c) arrow mark (d) EMV

L&) - 11/ PART - 1T
GOl : aCaeib uSlmensg NamésensE el _alésab. 15x2=30

Note : Answer any fifteen questions.

51. L|61'T61ﬂu_(ﬂu_l6.1)‘ Hlsps56) - cuanTLmIés.

Define statistical probability.

52. A, Beramp @msriupm Hlspdseiia PA) = = P(B) = —‘. erafld @‘@g@m @66@1

DL aHeUSHSTe HSPEEMOIE STaTs.

For two independent events A, B P(A) = % and P(B) =

[ESRRY

. Find the probability that

one of them occur.



53.

54.

55,

56.

57.

58.

59.

60.

15 6280
R QT sweumiiliy wr x erenugl f(x)=Ax? 0<x<1 erenmp 9@ oL LB
Hapsse| LTEHE sriur@Lnaie A sramrs.

If f(x) = Ax2 0<x<1 is a p.d.f. of a continuous random variable, find the value of A.

saflfs FweumiiliL wrhssrer smfls dﬁﬁurrr’rgsmv QUED T

Define the mathematical expectation for a discrete random variable.

esst QumEEs QgTas sTieu’ LDHl GOILIY emTs.

Write a short note about 'moment generating function'.

(0;68+0.32)10 erem FEHOILYL ureualer S @@ Qaipdlser HeoLriLghaer
Bapsamels srams. | '

For the binomial distribution (0.68 + 0.32)10 find the probability of 2 success. .

i

- umigmer ugeueder rmur® 0.5 erafléd P(x=3) e i sraws. (e~ %5 =0.6065).

If the variance of a Poisson Distribution is 0.5, 1find.P(>'<=3) (e=9°=0.6065).

Que Hlevels LFeualer LaTLseald Csad @raanL eT(pgis.

Give any two properties of a normal distribution.

‘ @ erad erHCsmér wIHO THCHTET - euanTwIm.

Define null hypothesis and alternative hypothesis.

W5® auasts 9enip QFaTLTD auemst) 9L GTeTDTdD eramar ?

Explain clearly type I and type II errors.

[ $wliys / Turn over
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61. &9fg swsdpsrar yerafludwe Cargaar iereileL SMmHS.

Give the test statistics for proportions.

62. ev@Larl 't Cemgamearssrer Cariumbhamar a@@]a;.

State the assumptions of student's t-test.

63. iledler HHS D - GO cuens.

Write short note on Yate’s corxection.

64. @& auiss Cerseameananil euTWmI.

Define chi-square test.

65. sres QsrLi euflensullen Wflejser wrenen ?

What are the components of time series ? ’

66. Gursflanen emeli(HD (WPeOMSEET Wrenel ?

Give the names of different methods of measﬁring trend.

67. Qar@&siulL. eSeurmisdr N=100 (A)=75 (B)=60 (AB)=15 Qun@gg@mLmb
o_GNL_IGTAUT GTENE: SHTEu .

Verify whether the given data N =100 (A)y=75 (B)=60 (AB)=15 are consistent.

68. 'gaﬂeirr QarLirys C&s(pemel samis.

Give Yule's coefficient of association.



17 6280

69. yaraflufwe Srwrens Camium® eremugen QUTmaner allarsEs.

Explain the meaning of ‘statistical decision theory’.
70. Siwrer aulgeu LFD LHH Ay GOLL cuers.

Write a note on decision tree.

L@&S - I/ PART - III -

GOy : gCsed om clammssens@ el weafdsean 6x5=30
Note : Answer any six questions.
71. @ Caumessrs A wpmb B eeargid @Q@meur Crrwss GCgrael

72.

-1
Coplarardlenpernt A erearuer CaiptlsBssuulL Blapssea -, B eraruir

CasplsB&ssuulL Hapssay % erefled (i) @peu(md (i) Heum WL (HLD

GCaipllshEsiuLayb (i) creumb CaibOgH&Es UL T Q&S HEDss56|S6T

FTCTS.

Two persons A, B appeared for an interview for a job. The probability of selection of A

1 , 1
s 3 and that of B is 5 Find the probability that (i) both of them will be selected

(ii) only one of them will be selected (iii) none of them will be selected.

X eremmp QFTLT FLO euTILILY LomMl&EsTan Flahsse| SLTSHE sy f(x)=3x2,
0<x<1 erafleb gl (h Frrafleowyd WIHUTLH HTEEULLD &HT6HwTs.

- Let X be a continuous random variable with p.d.f. f(x) =3x2, 0<x<1. Find mean and

variance. .

\
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73.

74.

18

Qeopwhn 10 pravuBsd @Gr swwsdle s LlIU@ & earper b iie
Q) Gonbss 7 someser (i) sflurs 7 H&ET (i) ASHSLILED 7 F@@seT
oL &8 Hlapsse|H6T ST,

Ten coins are tossed simultaneously. Find the probability of getting (i) at least seven
heads (ii) exactly seven heads (iii) at most seven heads.

@@ GO L wral L sHéd GHLALL oy 6miqe gyrefiwurs 1000 éﬁ@asaﬂei)
1630 Selusss@aerrdpgl. 2000 (&6 2 crar SibwrelLglé silwrs 5
aiH&aT WL G § NusE FhUL. HSNES0| HTaTs. [e~2=0.13534]

Suppose on an average one house in 1000 in a certain district gets fire during a year
find the probability that exactly 5 houses will have fire out of 2000 houses of that

~ district. [e~2=0.13534].

75.

76.

10 wraTauigeien erenl_ (&.8ed) G CarhssuuL(HeTerg
38, 40, 45, 53, 47, 43, 55, 48, 52, 49

Cupsar orHfl rHssULLL SimeaTsg IoTeRTaUTseflar srenL_semar LiFeuer
wrmur® 20 &.8l. erand smGeomom ?

Weights in kgs of 10 students are given below :
38, 40, 45, 53, 47, 43, 55, 48, 52, 49

Can we say that the variance of distribution of weights of all students from which the
above sample of 10 students was drawn is equal to 20 kgs ?

wepGw 1000, 2000 eravmailEamaujenLw B&Li6Lflw prHhsefer &l ()
sprefsdr panCu 675 QFS wpmb 68 Qal @@ . HLL clossb 25 Gab
2 eTar (ppeos CsrESHlaBEE wrflsd cEsasuULLan rarums 5%
Aoy srar wi L gHeo GCorgeaer Glsls.

The means of two large samples of 1000 and 2000 items are 67.5 cms and 68 cms

respectively. Can the samples be regarded as drawn from the population with standard
deviation 2.5 cms ? Test at 5% level-of significance.



77.

78.

19

areumid elleurhisEnss 3 QUL BB sTrsdl Senréd (.

QU(HL_LD

197511976

1977(197811979(1980

1981

1982]1983|1984

2 puSSl (L)

50

36 | 43 | 45 | 39 | 38

33 | 42 | 41 | 34

Calculate the three yearly average for the following data :

Year

197511

976(1977(1978 (1979

1981]1982(1983 1984

Production (Tons)

50

1980
38

36 | 43 | 45 | 39

42 | 41 | 34

33

SDEMIL STOBMLSEHESTA Sre Crmi sELADsTET <L auementudedmhs)
‘Wed’ CgmLig Qspmeud sras :

\
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In an experiment of immunization of cattle from tuberculosis the fo

- QBCrErews sHEs (PIGWLDT? GTETS SIS,

llowing results were

obtained :
‘ Affected Unaffected
Inculcated 12 26
Not inculcated | 16 6
By calculating Yule’s coefficient of association examine the effect of vaccine in controlling

the disease.
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Consider the pay off table : Using EMV criterion decide the best act.
Act A; don’t | Act A, expand | Act A3 expand

States of nature |Probability

expand 200 units 400 units
High demand .04 2500 3500 5000
Medium demand 0.4 2500 3500 2500
Low demand 0.2 2500 1500 1000

L@ - IV/PART - IV

Answer any four questions.
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A company has two plants to manufacture motorbikes. Plant I manufactures 80 percent

of motorbikes and Plant II manufactures 20 percent. At Plant I 85 out of 100 motorbikes

are rated standard quality or better.

At Plant II only 65 out of 100 motorbikes are rated standard quality or better.

(i)  What is the probability that the motorbike selected at random came from Plant I,

if it is known that the motorbike is of standard quality ?

(i) What is the probabxhty that the motorbike came from Plant II, if it is known that
the motorbike is of standard quality ?

4x10=40
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In a normal distribution 31% of the items are under 45 and 8% are over 64. Find the
mean and variance of the distribution.
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In a certain city 125 men in a sample of 500 are found to be sélf-employed. In another
city the number of self-employed are 375 in a random sample of 1000. Does this indicaté
that there is a greater population of self-employed in the second city than in the first ?

aﬂg)_L'Jq elpuemer HLLsADE weryb Gearyb T@&ESUIULL 6 smlsallar
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&6NL_&6T A B C D E F
AL 580 apery| 53 | 28 | 31 | 48 | 50 | 42
A Lsfihe Gemy| 58 | 29 [ 30 | 55 | 56 | 45
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The sales data of an item in six shops before and after a special promotional cémpaign
are as under :

- Shops A B C D E F
Before Campaign | 53 | 28 | 31 | 48 | 50 | 42
‘After Campaign |- 58 29 | 30 55 56 45

Test whether the campaign is a success at 5% level of significance.
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A 8 5 5 7
B 7 6 4 4
C 3 6 5 4

Three varieties of coal were analysed by four chemists and the ash-content in the varieties
was found to be as under :

Varieties Chemists
M@ ]G] @
A 8 5 5 7
B 7 6 4 4
C 3 6 5 4

Carry out the analysis of variance.
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1 II ITI v
1989 30 40 36 34
1990 34 52 | 50 44
1991 40 58 54 48
1992 54 76 | 68 62
1993 80 92 86 82

Find the seasonal variations by simple average method for data given below :
YEAR Quarters

‘ I I III v
1989 30 40 36 34
1990 34 52 | 50 44
1991 40 58 54 48
1992 54 76 68 62
1993 80 92 86 82
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A farm owner is considering drilling a farm well. In past only 70% of wells drilled
were successful at 20 meters of depth in that area. Moreover on finding no water some
persons drilled further 25 meters were successful only for 20%. The prevailing cost for
drilling ¥ 500 per meter. In case of not drilling a well he estimates that he has to buy
water at ¥ 15,000 over the next ten years from his neighbout. Draw an appropriate
decision tree and determine the farm owner’s strategy under EMV approach.

The following decision can be optimal :
(i)  donot drill any well.
(i)  drill upto 20 meters.

(i) No water is found at 20 meters drill further 25 meters,

-00o0-

6280






